Managerial Accounting
Acct 2301

Chapter 5 Quiz
1. Mixon Company manufactures a personal computer designed for use in schools.  Mixon is currently producing and selling 15,000 units a year but has the capacity to produce 20,000 units.  The computer’s normal selling price is $1,400 per unit with no volume discounts.  The unit-level costs of the computer’s production are $300 for direct materials and $250 for direct labor.  Batch-level cost is $1,200,000 per batch.  Each batch contains 5,000 units.  The total product and facility-level costs incurred by Mixon during the year are expected to be $2,100,000 and $800,000 respectively.  Mixon received a special international order to produce and sell 5,000 computers at $1,000 each.  The special order will have no negative effect on current sales.  How much will Mixon’s net income increase or decrease if the special order is accepted?

a. $1,050,000

b. $250,000

c. ($1,850,000)

d. $2,250,000

e. None of the above

2. The Ann Company produces multiple products and is considering eliminating the following product line:
	
	Product C5-X

	Sales
	$40,000

	Less variable costs:
	

	   Raw materials (unit-level)
	  25,000

	   Direct labor (unit-level)
	    5,000

	Contribution Margin
	$10,000

	Less fixed costs:
	

	   Facility-level costs allocated to products
	  15,000

	Profit (loss)
	($5,000)


Based only on the information provided, what amount of cost is avoidable if Ann outsources production of this product? 
a. $5,000 

b. $25,000 

c. $30,000 

d. $45,000 

e. $50,000
3. Megan is considering purchasing a new vehicle.  She purchased her current vehicle 6 years ago for $25,000.  The new vehicle will cost $30,000.  Megan’s current vehicle has a market value of $8,000.  What is Megan’s sunk cost?

a. $30,000

b. $25,000

c. $8,000

d. $5,000

e. None of the above
4. Tim will be graduating from Texas Tech in May with his degree in accounting.  He has been interviewing and has received two job offers.  Company A, located in Dallas, has offered Tim a salary of $60,000 per year and 3 weeks of vacation.  Company B, located in Houston, has offered Tim a salary of $60,000 and 4 weeks of vacation.  Tim must decide which offer to take.  What information is relevant to Tim’s decision?

a. Salary

b. Vacation time

c. Location

d. A & B

e. B & C

5. Stanford Company operates three segments.  Income statements for the segments are:




    
     A

      B

      C



Sales Revenue


$200,000
$175,000
$180,000



Cost of Goods Sold

(150,000)
(100,000)
(160,000)



Sales Commission

( 10,000)
( 20,000)
(  15,000)



President’s Salary (allocated)
( 10,000)
( 20,000)
(  10,000)



Net Income


$ 30,000
$ 35,000
($  5,000)
Stanford is considering eliminating segment C.  If segment C is eliminated, the company’s overall profit will

a. Decrease by $5,000

b. Increase by $10,000

c. Decrease by $120,000

d. Decrease by $25,000

e. None of the above
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